od
i’
oF
uJ

N < S & 8 SIS B |8
mmm, % <
=
E=)
x N ham S S S 8188 8|8 ISAES] 81818 1898 218
2, N~ ~ D ] D ©|3|© s|s S|S sS|s|S SIRAN 5| D
[ep] | M — | Al | A OO O O | ©
s |8 g S 8 &8 2 8 slg ¥ |R[RIR |8 g |2
w3 = = -
KIS
T8 ERINS BB SRS SSNS SN E8 3832388 SR8 VSIS 32888 828|188 88|88 8
S S S aAS S =6 S QRS BB S DD DS VR S|E ©dld Jd|S|S SfS(S|Ss S|s|s|S S sl o
2HEeENSSE e BEHBEH|B B EBETC 73R g|Y|Y g|-|R|R B|5|C|C |88 3
<
S
e U e W ~ W = U = U S
or m
0 |
5 40
. i _
ol i _ K] =
¥ b L i &
v TA ~u
< Mw ﬂn R o ol oma
- = = % o wl R © =
= a0 B o o A |m '] w M gz S
ol Ho m Ki o o K mlo K = |w Ki 2 N 4l Koo
= = %0 8 M= m (R | W | RR D g | 30 (K| m
F o o = 04 Ao |9 F|R|E |z |S|Q Fo|R RO <
& i ujo B0 = oo [uo [0 oy Ul | = RO o | mo T uo | &o
0J o m &0 - nY 50 o |_AE|_J|XE|RA.+ mﬂ'ﬂl%g Rd |_.I._|D||}|
0 = = it il Do | RR R R 2 E e B
= E o 3 U oo :L = WEE ®EE Blo|m |8 |z o0|m|d M
= R 1 4 = R 0 w27 LIRIE SIRIE BIDIRIE 2101217 BIRIE &
s = R D o) R |R W R|[R |z |R|R Uy RIIR|R ©
° @.ﬁ RO 010 o) — O n521©81©31@&81@m021©81@
% i 31 or 8 = S =S =2 i B = N E S I
I+ D M_ - o) ar 0
5] 2 W
<J K
i

- 591 -



MY M= 20 ESsH(sHL/5Y - &)
=Y ZEH ML (St &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SO A2t 4,000 4,000
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DEE ZAE K& 300,000 300,000
308 AtAIEHMSOIE 300,000 300,000
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et HAlR SOt 2= X 60,000 0 60,000
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01 XN B2 LS 60,000 60,000
Ot AR ot Ax X2 60,000
=Zh ME 1,060,500 1,344,500 A284,000
) 389,000
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FAAFINEAIS (1) 477,000 660,000 183,000
Il 318,000
= 159,000
403 NXIEHHS =201 477,000 660,000 183,000
7 318,000
= 159,000
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OFAAF LA 477,000
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T 159,000
IIEELR 0IEE(=1) 106,500 202,500 /96,000
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Il 10,000
= 5,000
E2e AFNS S 150,000 220,500 A70,500
403 TR M SAH=01H 150,000 220,500 70,500
01 AR A =2 £ 150,000 220,500 A70,500
OJt=2E AFHNT US 150,000
e setsd 24 199,000 182,916 16,084
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01 =LHNHI 4,000 4,416 AN416
ONRet SMsd &9 RFA 4,000
308 AHAIEMSOIE 150,000 165,000 15,000
01 X HHBAEXS 150,000 165,000 A15,000
OMMRE =MsF ZHOINHN 8) 150,000
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403 AXIEHHSAH=201H 10,000 20,000 10,000
01 AXIEHM A= 2 £ 10,000 20,000 10,000
O=dE =27 e N& 10,000
SSHA D=3t 412,964 390,490 22,474
Jl 336,565
== 76,39
F4tE 0lZ¥2e| XIJ(=1) 412,964 390,490 22,474
Jl 336,565
< 76,399
307 gl2to| & 22,714 2,714 0
Jl 11,357
= 11,357
02 QB AHANSEER 22,714 22,714 0
O=¢= 01822 X 22,714
Jl 11,357
= 11,357
308 AXIHHS0IA 390,250 367,776 22,474
Jl 325,208
< 65,042
01 XN BSELES 390,250 367,776 22,474
O=4t= 015 2tel Xd 390,250
) 325,208
= 65,042
SeE =8 ¢E 1,183,370 1,401,536 A218,166
7l 1,000,000
= 183,370
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J| 1,000,000
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Ot uRRSAXEH 1,133,370
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